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5R]G]LDá��3RVWDQRZLHQLD�RJyOQH
����

1LQLHMV]H�:DUXQNL�RNUH ODM �]DVDG\�XF]HVWQLFWZD�Z�3URJUDPLH�SDUWQHUVNLP�3.2�9,7$<�
NWyUH� XF]HVWQLN� WHJR� SURJUDPX� DNFHSWXMH� SU]H]� ]áR HQLH� ZáDVQRU F]QHJR� SRGSLVX� QD
XPRZLH�R�Z\GDQLH�L�X \ZDQLH�NDUW\�NUHG\WRZHM�3.2�%3�6$�

����
8 \WH�Z�QLQLHMV]\FK�:DUXQNDFK�RNUH OHQLD�R]QDF]DM �

��� %DQN�±�3RZV]HFKQ �.DV �2V]F] GQR FL�%DQN�3ROVNL�6SyáN �$NF\MQ �]�VLHG]LE
Z�:DUV]DZLH�SU]\�XO��3XáDZVNLHM����

��� 3.1� 25/(1� ±� 3ROVNL� .RQFHUQ� 1DIWRZ\� 25/(1� 6SyáND� $NF\MQD� ]� VLHG]LE
Z�3áRFNX�SU]\�XO��&KHPLNyZ���

��� 3URJUDP� 9,7$<� ±� SURJUDP� ORMDOQR FLRZ\� 3.1� 25/(1�� GHG\NRZDQ\� NOLHQWRP
VLHFL�VWDFML�SDOLZ�3.1�25/(1�� UHDOL]RZDQ\�QD�SRGVWDZLH�=DU] G]HQLD�'\UHNWRUD
*HQHUDOQHJR� QU� ��*'������ ]� GQLD� ����������� Z� VSUDZLH� ZGUR HQLD� 3URJUDPX
9,7$<� 3ROVNLHJR� .RQFHUQX� 1DIWRZHJR� 25/(1� 6SyáND� $NF\MQD�� Z� RSDUFLX
R�PLNURSURFHVRURZH� .DUW\� 9,7$<�� =DVDG\� XF]HVWQLFWZD� Z� 3URJUDPLH� 9,7$<
RNUH ORQH�V �Z�5HJXODPLQLH�3URJUDPX�9,7$<�

��� .DUWD� 9,7$<� ±� NDUW � PLNURSURFHVRURZ �� Z\GDZDQ � SU]H]� 3.1� 25/(1
SRGPLRWRP�XF]HVWQLF] F\P�Z�3URJUDPLH�9,7$<��Z�W\P�NDUW �6XSHU�9,7$<�

��� 3URJUDP� SDUWQHUVNL� 3.2� 9,7$<� �� ZVSyOQ\� SURJUDP� %DQNX� L� 3.1� 25/(1
GHG\NRZDQ\� NOLHQWRP� %DQNX� L� 3.1� 25/(1�� SR]ZDODM F\� MHJR� 8F]HVWQLNRP� QD
JURPDG]HQLH� SXQNWyZ� ]D� RSHUDFMH� EH]JRWyZNRZH� GRNRQ\ZDQH� SU]\� X \FLX
SDUWQHUVNLHM�NDUW\�NUHG\WRZHM�3.2�9,7$<�ZH�ZV]\VWNLFK�SXQNWDFK�DNFHSWXM F\FK
W � NDUW � QD� WHUHQLH� 5]HF]SRVSROLWHM� 3ROVNLHM� L� XPR OLZLDM F\� %DQNRZL� 7UDQVIHU
SXQNWyZ�� QD� ]DVDGDFK� RNUH ORQ\FK� Z� QLQLHMV]\FK� :DUXQNDFK�� D� NOLHQWRZL� QD
=DVLOHQLH�NDUW\�9,7$<�L�Z\NRU]\VWDQLH�SXQNWyZ�Z�3URJUDPLH�9,7$<�

��� 3DUWQHUVNLH� NDUW\� NUHG\WRZH� 3.2� 9,7$<� ±� ]áRWH� OXE� VUHEUQH� NDUW\� NUHG\WRZH
%DQNX� ]� ORJRW\SHP� 3.1� 25/(1� QD� DZHUVLH� RUD]� ORJRW\SHP� SURJUDPX
ORMDOQR FLRZHJR� 9,7$<� QD� UHZHUVLH�� Z\GDZDQH� ]JRGQLH� ]� SRVWDQRZLHQLDPL
5HJXODPLQX� Z\GDZDQLD� L� X \ZDQLD� NDUW� NUHG\WRZ\FK� 3.2� %3� 6$� MDNR� NDUW\
JáyZQH� OXE� GRGDWNRZH�� Z\SRVD RQH� QDGWR� Z� RSFM � JURPDG]HQLD� SXQNWyZ� QD
]DVDGDFK�RNUH ORQ\FK�Z�QLQLHMV]\FK�:DUXQNDFK�

��� 8F]HVWQLN� ±� RVRE � IL]\F]Q �� NWyUD� ]DDNFHSWRZDáD� :DUXQNL� 3URJUDPX
SDUWQHUVNLHJR�3.2�9,7$<� L� 5HJXODPLQ� 3URJUDPX�9,7$<�� L� NWyUHM� %DQN� SU]\]QDá
3DUWQHUVN �NDUW �NUHG\WRZ �3.2�9,7$<��D�3.1�25/(1�.DUW �9,7$<� OXE�6XSHU
9,7$<�

��� 5HJXODPLQ� NDUW� NUHG\WRZ\FK� ±� 5HJXODPLQ� Z\GDZDQLD� L� X \ZDQLD� NDUW
NUHG\WRZ\FK�3.2�%3�6$�

��� 8PRZD�NDUW\�NUHG\WRZHM�±�XPRZ �R�Z\GDQLH�L�X \ZDQLH�NDUW\�NUHG\WRZHM�3.2
%3�6$�

����6DOGR� SXQNWRZH� ±� OLF]ED� SXQNWyZ� SU]\VáXJXM F\FK� 8F]HVWQLNRZL� Z� 3URJUDPLH
SDUWQHUVNLP� 3.2� 9,7$<� ]� W\WXáX� GRNRQ\ZDQLD� RSHUDFML� EH]JRWyZNRZ\FK� SU]\
X \FLX� 3DUWQHUVNLHM� NDUW\� NUHG\WRZHM� 3.2� 9,7$<� QD� WHUHQLH� 5]HF]SRVSROLWHM
3ROVNLHM��Z�GDQ\P�F\NOX�UR]OLF]HQLRZ\P�

����:QLRVHN�±�ZQLRVHN�R�Z\GDQLH�3DUWQHUVNLHM�NDUW\�NUHG\WRZHM�3.2�9,7$<�E G F\
MHGQRF]H QLH� ZQLRVNLHP� R� XF]HVWQLFWZR� Z� 3URJUDPLH� SDUWQHUVNLP� 3.2� 9,7$<�
D�Z�SU]\SDGNX��JG\�NOLHQW�Z�PRPHQFLH�VNáDGDQLD�:QLRVNX��QLH� MHVW�XF]HVWQLNLHP
3URJUDPX�9,7$<��VWDQRZL F\�QDGWR�ZQLRVHN�R�XF]HVWQLFWZR�Z�3URJUDPLH�9,7$<�

����&\NO� UR]OLF]HQLRZ\� ±�SRZWDU]DOQ\�PLHVL F]Q\�RNUHV�� UR]SRF]\QDM F\� VL � Z�GQLX
RNUH ORQ\P�Z�PDWHULDáDFK� LQIRUPDF\MQ\FK� GRU F]RQ\FK� ZUD]� ]� 3DUWQHUVN � NDUW
NUHG\WRZ �3.2�9,7$<�� D� NR F] F\� VL � Z� QDVW SQ\P�PLHVL FX� ]� XSá\ZHP� GQLD



�

SRSU]HG]DM FHJR� SRF] WNRZ\� G]LH � F\NOX� ±� ]JRGQLH� ]� ]DVDGDPL� RNUH ORQ\PL
Z�5HJXODPLQLH�NDUW�NUHG\WRZ\FK�

����7UDQVIHU�SXQNWyZ�±�SU]HND]DQLH�6DOGD�SXQNWRZHJR�SU]H]�%DQN�GR�3.1�25/(1�
SR� ]DPNQL FLX� &\NOX� UR]OLF]HQLRZHJR� GDQHM� 3DUWQHUVNLHM� NDUW\� NUHG\WRZHM� 3.2
9,7$<�� FHOHP� =DVLOHQLD� .DUW\� 9,7$<� ZVND]DQHM� SU]H]� 8F]HVWQLND� SURJUDPX� ZH
:QLRVNX� OXE� Z\GDQHM� L� SU]HVáDQHM� GR� NOLHQWD� SU]H]� 3.1� 25/(1� QD� SRGVWDZLH
:QLRVNX�

����=DVLOHQLH�.DUW\�9,7$<�±�SU]HND]DQLH�SU]H]�3.1�25/(1��QD�SRGVWDZLH�7UDQVIHUX
SXQNWyZ�� SXQNWyZ� 9,7$<� UyZQ\FK� LOR FL� SXQNWyZ� ]JURPDG]RQ\FK� SU]\� X \FLX
3DUWQHUVNLHM� NDUW\� NUHG\WRZHM� 3.2� 9,7$<�� QD� .DUW � 9,7$<� ZVND]DQ � SU]H]
8F]HVWQLND�ZH�:QLRVNX��OXE�Z\GDQ �L�SU]HVáDQ �GR�NOLHQWD�SU]H]�3.1�25/(1�QD
SRGVWDZLH�:QLRVNX�� =DVLOHQLH� .DUW\� 9,7$<� QDVW SXMH� SRSU]H]� XPLHV]F]HQLH� MHM
Z�WHUPLQDOX�.DUW�9,7$<�GRVW SQ\P�QD�6WDFMDFK�3DOLZ�

����6WDFMH�3DOLZ� ±� VWDFMH� SDOLZ� QD� WHUHQLH�5]HF]SRVSROLWHM�3ROVNLHM�ZVND]DQH� SU]H]
3.1�25/(1�� RGSRZLHGQLR� R]QDF]RQH� ORJR�9,7$<� L� ELRU FH� XG]LDá�Z�3URJUDPLH
9,7$<�

����8PRZD� ±� XPRZD� R�ZVSyáSUDF\� ]DZDUWD� SRPL G]\� %DQNLHP� D� 3.1�25/(1� QD
PRF\��NWyUHM�SRZVWDá�L�IXQNFMRQXMH�3URJUDP�SDUWQHUVNL�3.2�9,7$<�

5R]G]LDá��:DUXQNL�SU]\VW SLHQLD�GR�3URJUDPX�SDUWQHUVNLHJR�3.2�9,7$<
����

8F]HVWQLFWZR� Z� 3URJUDPLH� SDUWQHUVNLP� 3.2� 9,7$<� ]DOH \� RG� á F]QHJR� VSHáQLHQLD
QDVW SXM F\FK�ZDUXQNyZ�

��� ]DDNFHSWRZDQLD�SU]H]�NOLHQWD�
D�� 5HJXODPLQX�NDUW�NUHG\WRZ\FK��GRVW SQHJR�Z�SODFyZNDFK�%DQNX�
E�� 5HJXODPLQX�3URJUDPX�9,7$<��GRVW SQHJR�Z�SODFyZNDFK�%DQNX�L�QD

6WDFMDFK�3DOLZ�
F�� :DUXQNyZ�3URJUDPX�SDUWQHUVNLHJR�3.2�9,7$<��GRVW SQHJR

Z�SODFyZNDFK�%DQNX�L�QD�6WDFMDFK�3DOLZ�
��� SU]\]QDQLD�SU]H]�%DQN�NOLHQWRZL�3DUWQHUVNLHM�NDUW\�NUHG\WRZHM�3.2�9,7$<�
��� SU]\]QDQLD�SU]H]�3.1�25/(1�NOLHQWRZL�NDUW\�9,7$<�

����
��� :� SU]\SDGNX� JG\� NOLHQW� MHVW� XF]HVWQLNLHP� 3URJUDPX� 9,7$<�� FKF F� SU]\VW SLü� GR

3URJUDPX�SDUWQHUVNLHJR�3.2�9,7$<�
��� VNáDGD� Z� RGG]LDOH� %DQNX� SLVHPQ\�:QLRVHN�� ZSLVXM F� Z� RGSRZLHGQLP� SROX

QXPHU� VZRMHM� NDUW\� 9,7$<�� QD� NWyU � RGE\ZDü� VL � E G]LH� 7UDQVIHU� SXQNWyZ
L�PR OLZH�E G]LH�=DVLOHQLH�NDUW\�9,7$<�

��� SRGSLVXMH�]�%DQNLHP�8PRZ �NDUW\�NUHG\WRZHM�Z�NWyUHM�DNFHSWXMH�GRNXPHQW\
Z\PLHQLRQH�Z�����XVW����

��� :\GDQLH� L� GRU F]HQLH� 3DUWQHUVNLHM� NDUW\� NUHG\WRZHM� 3.2� 9,7$<� QDVW SXMH� ]JRGQLH
]�]DVDGDPL�]DZDUW\PL�Z�5HJXODPLQLH�NDUW�NUHG\WRZ\FK�

����
��� :�SU]\SDGNX�JG\�NOLHQW��Z�FKZLOL�VNáDGDQLD�ZQLRVNX��QLH� MHVW�XF]HVWQLNLHP�3URJUDPX

9,7$<��FKF F�SU]\VW SLü�GR�3URJUDPX�SDUWQHUVNLHJR�3.2�9,7$<�
��� VNáDGD� Z� RGG]LDOH� %DQNX� SLVHPQ\� :QLRVHN�� ]D]QDF]DM F�� L � QLH� MHVW

XF]HVWQLNLHP� 3URJUDPX� 9,7$<�� FR� XSRZD QLD� 3.1� 25/(1� GR� SU]\]QDQLD
L�SU]HVáDQLD� .OLHQWRZL� .DUW\� 9,7$<�� QD� NWyU � RGE\ZDü� VL � E G]LH� 7UDQVIHU
SXQNWyZ�L�PR OLZH�E G]LH�=DVLOHQLH�.DUW\�9,7$<�

��� SRGSLVXMH� ]�%DQNLHP�8PRZ �NDUW\� NUHG\WRZHM�� Z� NWyUHM� DNFHSWXMH� GRNXPHQW\
Z\PLHQLRQH�Z�����XVW����

��� 6SHUVRQDOL]RZDQLH� L� GRU F]HQLH� .DUW\� 9,7$<� SU]H]� 3.1� 25/(1�� QDVW SXMH
Z�WHUPLQLH� GR� ��� GQL� RG� GDW\� ]DZDUFLD� 8PRZ\� NDUW\� NUHG\WRZHM�� ]JRGQLH� ]� GDQ\PL



�

RVRERZ\PL� ZVND]DQ\PL� SU]H]� NOLHQWD� ZH� :QLRVNX�� NWyUH� WR� GDQH�� Z\á F]QLH
Z�]DNUHVLH� QLH]E GQ\P� GR� UHDOL]DFML� 3URJUDPX� SDUWQHUVNLHJR� 3.2� 9,7$<�� %DQN
XGRVW SQLD�3.1�25/(1�� ]� ]DFKRZDQLHP�Z\PRJyZ� RNUH ORQ\FK�Z� RERZL ]XM F\FK
SU]HSLVDFK�SUDZD�

��� $NW\ZDFMD�3DUWQHUVNLHM�NDUW\�NUHG\WRZHM�3.2�9,7$<�L�X \ZDQLH�WHM�NDUW\�QD�]DVDGDFK
5HJXODPLQX� NDUW� NUHG\WRZ\FK�� PR H� QDVW SLü� SU]HG� GRU F]HQLHP� NOLHQWRZL� .DUW\
9,7$<�

����
��� 3DUWQHUVNLH� NDUW\� NUHG\WRZH� 3.2� 9,7$<� Z\GDZDQH� V � ]� QDGUXNLHP� ]GM FLD

8F]HVWQLND�OXE�EH]�QDGUXNX��Z�]DOH QR FL�RG�ZROL�NOLHQWD�Z\UD RQHM�Z�WUH FL�:QLRVNX�
��� 6WDFMH�3DOLZ�QLH�PDM �SUDZD�DQL�RERZL ]NX�SU]\MPRZDQLD�:QLRVNyZ�
��� %DQN� QLH� PD� SUDZD� DQL� RERZL ]NX� SU]\MPRZDQLD� IRUPXODU]\� XF]HVWQLFWZD

Z�3URJUDPLH�9,7$<�GRVW SQ\FK�QD�6WDFMDFK�3DOLZ�
5R]G]LDá��*URPDG]HQLH�SXQNWyZ�QD�SDUWQHUVNLHM�NDUFLH�NUHG\WRZHM�3.2�9,7$<

����
��� 3XQNW\� Z� QLQLHMV]\P� 3URJUDPLH� SU]\]QDZDQH� V � ]DUyZQR� GOD� JáyZQ\FK�� MDN

L�GRGDWNRZ\FK�3DUWQHUVNLFK�NDUW�NUHG\WRZ\FK�3.2�9,7$<�
��� =D� ND GH� ����� ]á� �GZD� ]áRWH�� NZRW\� RSHUDFML� EH]JRWyZNRZ\FK� GRNRQDQ\FK� QD

WHU\WRULXP� 5]HF]SRVSROLWHM� 3ROVNLHM� SU]\� X \FLX� 3DUWQHUVNLHM� NDUW\� NUHG\WRZHM� 3.2
9,7$<��8F]HVWQLNRZL�SU]\VáXJXMH���SXQNW��MHGHQ�SXQNW��

��� 3XQNW\�Z\PLHQLRQH�Z�XVW����QDOLF]DQH�V �]�]DRNU JOHQLHP�GR�SHáQ\FK�ZDUWR FL�Z�Gyá�
D� QDVW SQLH� VXPRZDQH� ]H� ZV]\VWNLFK� RSHUDFML� GRNRQDQ\FK� SU]\� X \FLX� GDQHM
3DUWQHUVNLHM�NDUW\�NUHG\WRZHM�3.2�9,7$<�Z�GDQ\P�&\NOX�UR]OLF]HQLRZ\P�

��� 3XQNW\�QLH�V �QDOLF]DQH�]D�Z\SáDW\�JRWyZNL�GRNRQ\ZDQH�SU]\�X \FLX�3DUWQHUVNLHM�NDUW\
NUHG\WRZHM� 3.2� 9,7$<� RUD]� ]D� RSHUDFMH� EH]JRWyZNRZH�� ]UHDOL]RZDQH� SR]D
JUDQLFDPL� 5]HF]SRVSROLWHM�� D� WDN H� ]D� RSáDW\� L� SURZL]MH� ]ZL ]DQH� ]� Z\GDQLHP
L�X \ZDQLHP�3DUWQHUVNLHM�NDUW\�NUHG\WRZHM�3.2�9,7$<�

����
,QIRUPDFMD� R� 6DOG]LH� SXQNWRZ\P� 8F]HVWQLND� Z� GDQ\P� &\NOX� UR]OLF]HQLRZ\P� E G]LH
SU]HND]\ZDQD�8F]HVWQLNRZL�SU]H]�%DQN�ZUD]�]�PLHVL F]Q\P�]HVWDZLHQLHP�RSHUDFML� GOD
3DUWQHUVNLHM�NDUW\�NUHG\WRZHM�3.2�9,7$<�

����
��� 7UDQVIHU� SXQNWyZ� GRNRQ\ZDQ\� MHVW� Z\á F]QLH� QD� QXPHU� MHGQHM� .DUW\� 9,7$<� �� DOER

ZVND]DQHM� SU]H]� 8F]HVWQLND� ZH� :QLRVNX�� DOER� Z\GDQHM� QD� MHJR� SRGVWDZLH�
Z�SU]\SDGNX�JG\�8F]HVWQLN�ZF]H QLHM�WDNLHM�NDUW\�QLH�SRVLDGDá�

��� 8F]HVWQLN�SRZLQLHQ�SRZLDGRPLü�.DUWROLQL �%DQNX��SRG�QXPHUHP�WHOHIRQX��������±��±
���� R� ]PLDQLH� QXPHUX�.DUW\� 9,7$<�ZVND]DQHM�ZH�:QLRVNX�� FK\ED�� H� ]PLDQD� MHVW
]ZL ]DQD�]�Z\GDQLHP�QRZHM�.DUW\�9,7$<�SR�UHNODPDFML��:�W\P�SU]\SDGNX�R�]PLDQLH
QXPHUX�.DUW\�9,7$<�%DQN�]RVWDQLH�SRLQIRUPRZDQ\�SU]H]�3.1�25/(1��:�SU]\SDGNX
QLH� ]JáRV]HQLD� SRZ\ V]HM� ]PLDQ\� 7UDQVIHU� SXQNWyZ� 3URJUDPX� SDUWQHUVNLHJR� 3.2
9,7$<� GRNRQ\ZDQ\� MHVW� QD� QXPHU� .DUW\� 9,7$<� ZVND]DQHM� SLHUZRWQLH� ZH�:QLRVNX
DOER�Z\GDQHM�QD�SRGVWDZLH��:QLRVNX�

��� 1LH]DOH QLH�RG�SXQNWyZ�3URJUDPX�3DUWQHUVNLHJR�3.2�9,7$<�SU]\]QDZDQ\FK�]�W\WXáX
RSHUDFML� EH]JRWyZNRZ\FK� GRNRQ\ZDQ\FK� SU]\� X \FLX� 3DUWQHUVNLHM� NDUW\� NUHG\WRZHM
3.2�9,7$<��8F]HVWQLN�PD�SUDZR�GR�JURPDG]HQLD�SXQNWyZ�9,7$<�QD�VZRMHM�.DUFLH
9,7$<�QD�]DVDGDFK�SU]\M W\FK�Z�5HJXODPLQLH�3URJUDPX�9,7$<�

�����
��� =DVLOHQLH� .DUW\� 9,7$<� QDVW SXMH� SR� ��� GQLDFK� RG� GDW\� ]DNR F]HQLD� &\NOX

UR]OLF]HQLRZHJR�



�

��� :�SU]\SDGNX� QLH� =DVLOHQLD� .DUW\� 9,7$<�Z� FL JX� ��� GQL� RG� GDW\� Z\VWDZLHQLD� SU]H]
%DQN�]HVWDZLHQLD�RSHUDFML�GOD�3DUWQHUVNLHM�NDUW\�NUHG\WRZHM�3.2�9,7$<�]D�GDQ\�&\NO
UR]OLF]HQLRZ\�� SXQNW\� 9,7$<� UyZQH� LOR FL� SXQNWyZ� ]JURPDG]RQ\FK� SU]\� X \FLX
3DUWQHUVNLHM�NDUW\�NUHG\WRZHM�3.2�9,7$<�]D�WHQ�F\NO�UR]OLF]HQLRZ\�]RVWDM �SU]H]�3.1
25/(1�DQXORZDQH�

�����
:�SU]\SDGNX�QLHWHUPLQRZHJR� UHJXORZDQLD� ]RERZL ]D �RNUH ORQ\FK�Z�5HJXODPLQLH�NDUW
NUHG\WRZ\FK�� SRZVWDá\FK� ]� W\WXáX� X \ZDQLD� 3DUWQHUVNLHM� NDUW\� NUHG\WRZHM� 3.2� 9,7$<�
%DQN��PD� SUDZR�� QLH]DOH QLH� RG� XSUDZQLH � SU]\VáXJXM F\FK� QD� SRGVWDZLH� 5HJXODPLQX
NDUW�NUHG\WRZ\FK��GR�QLH�QDOLF]DQLD�SXQNWyZ�3URJUDPX�SDUWQHUVNLHJR�3.2�9,7$<�

5R]G]LDá��3RVW SRZDQLH�Z\MD QLDM FH
�����

��� 5HNODPDFMH� 8F]HVWQLNyZ� GRW\F] FH� 3DUWQHUVNLFK� NDUW� NUHG\WRZ\FK� 3.2� 9,7$<
Z�]DNUHVLH� RNUH ORQ\P� Z� 5HJXODPLQLH� NDUW� NUHG\WRZ\FK�� E G � UR]SDWU\ZDQH� SU]H]
%DQN�]JRGQLH�]�]DVDGDPL�WHJR�5HJXODPLQX�

��� 5HNODPDFMH� Z\PLHQLRQH�Z� XVW�� �� QDOH \� ]JáDV]Dü� ]JRGQLH� ]� ]DVDGDPL� 5HJXODPLQX
NDUW�NUHG\WRZ\FK�

��� 5HNODPDFMH�8F]HVWQLNyZ�GRW\F] FH� IXQNFMRQRZDQLD� L� ]DVDG�3URJUDPX�9,7$<� L� .DUW
9,7$<� UR]SDWU\ZDQH� E G �� SU]H]� 3.1� 25/(1�� ]JRGQLH� ]� ]DVDGDPL� � 5HJXODPLQX
3URJUDPX�9,7$<�

��� 5HNODPDFMH�Z\PLHQLRQH�Z� XVW�� �� QDOH \� ]JáDV]Dü� SRG� QXPHU� ,QIROLQLL� 3.1�25/(1�
�� ±� ���� ���� ���� �]� WHOHIRQyZ� VWDFMRQDUQ\FK�� OXE� �� ���� ���� ���� �]� WHOHIRQyZ
NRPyUNRZ\FK��

��� :�SU]\SDGNX�]JáRV]HQLD�SU]H]�8F]HVWQLND��UHNODPDFML�GRW\F] FHM�REFL HQLD�UDFKXQNX
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